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—=ZEAAEE 188, 145,000 *3. 545% 6,670
e 6,670,000 *12.95% 864
—1NEES 188,145,000 *1.75% 3,293
—MHEE 188, 145,000 *0.966% 1,818
Hegs(ezzeln) 1,720,287 2,277,000
Jl 1,720,287
UWRHHXIS(EIHEELESIA) 1,720,287 2,277,000
Il 1,720,287
LIS e (Z &) 920,287 1,117,000
J| 920,287
701 JIEtI HSHES 920,287 1,117,000
Il 920,287
02 2IILSEEIHBLNEES 920,287 1,117,000
Os=F S&otsxdAe 2¢
335,645,000 * 14 335,645
Il 335,645
O&& S&otHclAe 2
173,930,000 *14] 173,930
Il 173,930
O&Z MEIZBot+HelAE 22
181,928,000 *14] 181,928
Il 181,928
OAREot=HelAlE (12004 )
117,291,000 *14] 117,291
Il 117,291




2A:

ME: eas(2uel)
CHel: LA RIZ (SR N SEE) (SHol: )
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OIEELHMelAE
111,493,000 * 14 111,493
| 111,493
LHEHH (KH) 800,000 1,160,000 A360,000
| 800,000
701 JIEt2I HSHEZ 800,000 1,160,000 A360,000
| 800,000
B 3IEEEIAHN2HES 800,000 1,160,000 A360,000
OuoIt AZ2/UR SO/E NYHEE A
= 650,000,000& * 14! 650,000
J| 650,000
O&2H 830ls sHE NgasE AlE
150,000,000 * 14 150,000
J| 150,000




